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i) General Awareness

Where does the river “Indus” originates ?
(A) Amarakantak, Madhya Pradesh
(B) Talakaveri, Kodagu, Karnataka
(C) Mansarovar, Tibet

(D) None of the above

The most of the part of India receives

rain fall from

(A) North-east monsoon
(B) South-west monsoon
(C) North-west monsoon

(D) None of the above

The playing time of thé full version of

the National Anthem is approximately
(A) 52 seconds
(B) 50 seconds
(C) 48 seconds

(D) 20 seconds

4. National song Vande Mataram was

composed by

(A) Rabindranath Tagore

(B) Bankimchandra Chatteriji

(C) Muhammad Igbal

(D) None of the above

Pradhan Mantri Jan-Aushadhi Yojana

is a flagship programme of Central

Government, comes under

(A) Ministry of Health and Family

Welfare
(B) Ministry of Finance
(C) Ministry of Chemicals and Fertilizers

(D) None of the above

“World Economic Outlook” report
released by

(A) WTO

(B) IMF

(C) FAO

(D) None of the above
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1. “fy Tt wmsgm et ? 4. T Mid 92 TIRE TR T
(A) THTEHH, T YT il
U (A) ersary 2R
(B) ThIa, higT, Hlee -
(B) wfehuag T
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(A) ST-d wg

(B) . B8~ IS, (A) T@r=g 3R RER Feam T

(C) SW-ufvem Ay B) i e

(D) 3% H ¥ HIS 7 (C) A 3R Iaeh e
D) 3§ & s 7

3. USHTH % YU HEHWT ! a4 1 G0 ) E
—— 3 6. “fova anfefer uftgwar” fgid ELY
. ST} i et 2

(A) 52 8Fs
(A) WTO

(B) 50 Hehg
(B) IMF

i) Koy (C) FAO

(D) 20&g (D) 3 & A = e
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10.

When was National Consumers Day
observed every year ?

(A) December, 24t

(B) November, 3

(C) September, 22nd

(D) None of the above

What is theme of UNO (United Nations
Organization) for the year 2019 ?

(A)
(B)
(C)

International year of pulses
International year of millets

International year of indigenous

languages
(D) None of the above

“Vajra Prahar” a joint military exercise
between which of the following countries ?

(A) India and USA
(B) India and UK
(C) India and Japan

(D) None of the above

Druzhba Ill a military exercise held
between which of the following
countries ?

(A) India and Russia
(B) Russia and USA
(C) Russia and Pakistan

(D) None of the above

) i

12.

13.

14.
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Which of the following rivers are east
flowing rivers of peninsular India ?

(A) Godavari and Mahanadi
(B) Narmada and Tapi
(C) Netravathi and Sharavathi

(D) None of the above

Which type of climate prevails in India ?
(A) Tropical monsoon type

(B) Mediterranean type

(C) Subtropical Humid type

(D) None of the above

Montreal protocol is the multilateral
environmental agreement that requlates
which of the following ?

(A) Substances that causes the green
house effect

Substances that causes the acid
rain

(B)

(C) Substances that deplete the ozone

layer

(D) None of the above

Every year “World Wetland Day” is
celebrated on

(A) 2N February

(B) 2"d March

(C) 22" April

(D) None of the above
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i T S feaw s wamEn ST
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(A) 24 fegsr

(B) 37dsR

(C) 22 fga=:

(D) 3% T 9 FIS el

a9 2019 ¥ FFH T T 1 HE WA
g7

(A) Tl 1 ST o

(B) ST %1 STy a9

(C) Taaft W=t 1 sy o

(D) 3% H & HIS TE

“ oISl YRR Ush T 8= 31wy fraferfiaa
# 8 T3 2wt & e gan ?

(A) ¥R 3T JUEy

(B) Wd 37 Ik

(C) WA 3R I

(D) 3% H | 13 7L

F59 111 T &1 anme fferfea o & o
971 o off g ?

(A) ¥RE 3R &F

(B) ¥ 3R L&Y

(C) && 3R yrferea™

(D) 3o @ FI T

Tl
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EEIdE YRa 6 Fefafea 3 @ se-@
Afeat gd it 3R et § 7

(A) MEEd 3R geEd

(B) THaT 3R ard

(C) ==Taet 3 IRTael

(D) 3§ A 1S T

Wi H e WeRR 1 STetarg w2 7
(A) IVEHREHT A TR

(B) YHEIHNRIY YR

(C) IUTThieaef T8 Tehi

(D) 3% H & I Te

Hifeaa Tereriet sgufia wtervia gl
Fferiaa § & foraar fafrafia s ?
(A) o e St Bt 78 ymE @ @

(B) o veref St reTay] o &

(C) & veTef S 3T I T &7 S &

(D) 3% H 9 g A&

wioad “fova smdyfy fesm”
F T ST R

(A) 2%Ed

(B) 2T

(C) 223w

(D) 3% # & HE 7
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15.

16.

I

How many members to be nominated
by the President for Rajyasabha, which

is envisaged in the Indian Constitution ?
(A) 10 members

(B) 12 members

(C) 15 members

(D) None of the above

What is the maximum strength of the

Loksabha, which is envisaged in the

Indian Constitution ?

(A) 545

(B) 543

(C) 552

(D) None of the above

Who presides over the Chairman of the
Interstate Council ?

(A) Prime Minister

(B) President

(C) Loksabha Speaker

(D) None of the above

18.

19.

20.
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Where does the headquarter of the

Shanghai Cooperation is located ?
(A) Shanghai, China

(B) Beijing, China

(C) New Delhi, India

(D) None of the above

What is the acronym “PAN" stands
for, which is a 10 digit alpha-numeric
number allotted by the IT Department

to tax payers ?

(A) Permanent Account Number
(B) Permanent Accessible Number
(C) Premium Account Number

(D) None of the above

What is the main aim of the Kayakalp

awards of Government of India ?

(A) Promote cleanliness, hygiene and
infection control practices in public
health facilities

(B) Promote women participation in

economic activities in the country

(C) To provide electrification to rural
remote area

(D) None of the above
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15.

16.

§

gt gT Tsaa T o fore fore weel 1
e o e B, St 6 sl wfeem
FETATR 7

(A) 10 TE=

(B) 12T

(C) 159aw

(D) 3% H @ I TE

it wfaum & a7 stfireran
TR T 1 TS T R 7

(A) 545

(B) 543

(C) 552

(D) 3o F & IS 7

s YT T AT I BT @ ?
(A) Su= T

(B) Tt

(C) AT Tie

(D) 3§ & g e

18.

19.

20.
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TS HIRIH 1 GEATerd el ferd 2 7
(A) e, =i

8) shfsmr, ==

(C) = feg, wra

(D) 3o & ¥ g e

Hitreaer “PAN” 1 foream 7 B, S 6

T SNt e g o arared s fa
TRIT T 10 37! S 3TehT =T Ge § 7

(A) THHE 3THEE F
(B) HHE THfdEe Fa
(C) iftrm SFeh1ae F=R
(D) 3 T A IS =

A TR & FHIFhed QRN 1 q&d
dEI TR 7

(A) =, BOTS ST TshuT R 3ur
1 S W giagredt § yar s

(B) < # idfes nfefafem # aigenati i
ArfieRl ST
(C) Trivr e & F faregeftertor shem

(D) I H IS el
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22.

23.

24,

25,

286.
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ii) General Intelligence and Reasoning Ability

The sum of the digits in a three digit
number is 12. If the digits are reversed
the number is increased by 495 but
reversing only of the ten’s and unit
digits increases the number by 36. The
number is

(A) 327 (B) 372
(C) 237 (D) 273

A firm produces 50 units of a product
for ¥ 320 and 80 units for ¥ 380.
Considering the cost curve to be a
straight line the cost of producing 110
units to be estimated as

(A) 400 (B) 420

(C) 440 (D) none

In a family ‘R’ is married to ‘M’. ‘M’ is a
brother of ‘K’ who is ‘Z's mother. ‘R’ has
3 children, 1 son and 2 daughter with
one daughter married. ‘B’ is the sister-
in-law to ‘D’. ‘A’ is brother of ‘C’. How is
‘A’ related to 'Z' ?

(A) cousin brother (B) cousin sister
(C) aunty (D) uncle

A walks Southwards then turns right
again and then left and again left. In
which direction is he from the starting
point ?

(A) South West (B) South East
(C) North West (D) North East

If RAMAN is written as 12325 and

DINESH as 675489, how HAMAM is
written ?

(A) 92323 (B) 92233
(C) 93233 (D) 93292
1,9, 25,49, 81, 121, ?
(A) 225 (B) 289
(C) 169 (D) 144

2

’

3

27. Find odd number out 1, 5, 14, 30, 51,

55, 91.
(A) 30 (B) 55
(C) 51 (D) 91

Direction for the Q. No. 28 and 29.

5 people A, B, C, D and E have 5 different
brands of colour TV's Mi, BPL, Samsung, LG
and Koriyo and play 5 instruments Flute, Piano,
Drums, Guitar, Trumpet. Following conditions
are to be followed.

1. B does not have Mi or Samsung and plays
Piano.

A has BPL and plays Drums.
D has either Koriyo or LG.
The one who plays Trumpet has LG.
C has either Samsung or Koriyo and E
plays either Piano or Flute.
28. Who has Koriyo ?
(A) A (B) B
(C) C (D) D
29. D plays and owns
(A) Trumpet and LG
(B) Piano and LG
(C) Trumpet and Koriyo
(D) Data inadequate

For questions 30 and 31 refer to the data
below :

SEESEES

B B
AGB=A+re AUB=A+C_B
" AB A

A&B:—&-B—~B, AAB=A—§-+B
A A

30. (AAB)+(A#B)=
(A) 2(A#B)  (B) A&%@B

(C) 2A (D) A#B
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24.
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26.
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i) T ghgw qun arfthes A

U A 3R R S B R A 128 | 3l
37! T S SIg T ToaT STTU T ST 495 S ST
T | T HA TS 3TN RIS o 3R] ) el A

Y 37 T A 36 9 ekl Bl | SR e R
(A) 327 (B) 372
(C) 237 (D) 273

T & Ic1E I 50 AT T 320 I
80 g1l T 380 T IcqTfad Ll & | AT

5 ! T A 5 110 31541 o 3ca1e
F1 STIHM &

(A) 400 (B) 420

(C) 440 (D) i3 e

u% aftar § ‘R w1 faame ‘m A gan R |
‘MK FAE R Z R A@IR | ‘R F A
a8, 190 3R 2 afeaf e 4 1 3
ffea® 1B, DR TR 1A, CH
TER |'AH Z AR EE R 2

(B) THLG wed

(D) #HM™I

A =fegor il IR Ierd &, 9 gl @ 3R
R a8 g gA: 9T gedt @ | i

fgdaefrafemag ?

(A) sfqurafeem (B) sfaurgd

(C) Imufyem (D) IWE

Ifd RAMAN 21 12325 fer@d & 3t DINESH
%l 675489, a1 HAMAM %! & ferat 2
(A) 92323 (B) 92233

(C) 93233 (D) 93292

1,9, 25, 49, 81, 121, ?

(A) 225 (B) 289

(C) 169 (D) 144

27. wae fim ifeu) 1, 5, 14, 30, 51, 55, 91
(A) 30 (B) 55
(C) 51 (D) 91

9 G128 3R 29 + foru e -
5 =yfaaal A, B, C, D 37 E % Y 5 317 518 &
Tt ¥t Mi, BPL, 85T, LG 3R i@ & 3 5
e S, T, g1, fer o g a9 2
Frefefaa vt sl QT 2 |

1. B Mi 31 & =2 & IR e sear 2 |
2. ASUH BPL & 3 TG 7 |

3. DHRUHATARAAILGE |

4. IR NG S 2 IHFTE LG R |

5. C %919 1 89E I HfE & 3 E =1 a1 fogm

7 gl IS |

28. fras g =wIfEi ® ?
(A) A (B) B
(C) C (D) D

D SVdia3N3ITHIE____ 2|
(A) T IR LG
(B) Toami 3R LG
(C) T AR =IfE
(D) 3T 9T

¥ 30 37K 31 =g F=foifaa stissi s w@m = |
A@B=A+2_ A#B-A+2_B
AB A

29.

AsB=-"2 0 A g-ADLE
A A

30. (AAB)+(A#B)=
B

(A) 2/(A# B) (B) A&—@B

(C) 2A (D) A#B



32.

33.

34.
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If A=3, B=6, then A@B, A#B,
A&B are

(A) multiples of 3

(B) negative values

(C)
(D)

positive values

real values

PETAL : FLOWER : :

(A) SALT : PEPPER
(B) TIRE : BICYCLE
(C) BASE :BALL

(D) SANDALS : SHOES

Here are some words translated from
an artificial language.

daftafoni means advisement

imodafta means misadvise

imolokti means misconduct

Which word could mean ‘statement’ ?

(A) kratafoni
(C) loktifoni

(B) kratadafta
(D) daftaimo

All the tulips in Zoe’s garden are white.

All the pansies in Zoe's garden are
yellow:!

All the flowers in Zoe’s garden are either
white or yellow.

If the first two statements are true, the third

statement is
(A) true (B) false
(C) uncertain (D) allA, B, C

35.

36.

37.

38.

39.

40.
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Fact 1 : All drink mixes are beverages.
Fact 2 : All beverages are drinkable.
Fact 3 : Some beverages are red.

Which of the following statements must
also be a fact 7

I. Some drink mixes are red.

Il. All beverages are drink mixes.
[ll.  All red drink mixes are drinkable.
(A) |only (B) !l only
(C) landlll (D) none

Find the missing number.
1,2, 6,7, 21, 22,66, 7, 201
(A) 69 (B) 68
(C) 67 (D) 79

If PALAM could be given the code 43.
What code number can be given to
SANTACRUZ ?

(A) 128 (B) 85

(C) 120 125

A is B’s brother. C is A’s mother. D is
C's father. Fis A’s son. How is F related
toD ?

(A) Son

(B) Grandson

(C) Grand-grandson

(D) Grand-daughter

BANK : CBOL : : GROVE :
(A) SPOMP (B) HSPWF
(C) EVORG (D) PSWFH

6 children A, B, C, D, E and F are
standing in a row. B is between F and
D. E is between A and C, A does not
stand next to right F or D. C does not
stand next to D. F is between which of
the following pairs of children ?

(A) B&E (B) B&C

(C) B&D (D) B&A
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.

31. IR A=3,B=6d A@B, A#B,

32.

33.

34.
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A&B#%

(A) 3% T
(B) HUITcHS HH
(C) ©HTeHS HH
(D) arferss A

‘i’@%ﬁ:‘h_ﬁ::
(A) s : frd
(B) TRR : wigferer
(C) 3TYR : g
(D) ¥ea : S

T S 191 @ F9 W18 I ik for@
TE |

daftafoni T 37 ® advisement
imodafta %1 319f ® misadvise

imolokti T 37 & misconduct

fore w152 %1 31 ‘statement ST TFAI R 2
(A) kratafoni

(C) loktifoni

(B) kratadafta
(D) daftaimo

Tt o & # gt ogfera athe § |
St & a1 # geft s el © )
S % 9 aft gt A WA e § |

e gt 31 U9 T § a1 e we R
(A) ¥F
(Cc) afAfya

(B) ™
(D) |t A, B, C

35.

36.

37.

38.

39.

40.
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a2 1 gt 9T fagur 9 § |

dg2:afi I dR I § |

T3 FIWATE |

Frafafea i@ SR-A wam e € 7
. %o 9 g o € |

Il asft 9 fygor € |

1. @t srer O frsror o A €
(A) ad | (B) Fa Il

() 13 (D) +1g e

e w g |
1,2,6,7, 21, 22, 66, ?, 201

(A) 69 (B) 68

(C) 67 (D) 79

afd PALAM &1 % 438, @ SANTACRUZ

1 F2 BT

(A) 123 (B) 85

(C) 120 (D) 125

A BHFWEE |C, AR HETR | D, C % fian

BIFAFFR IFRDARIGER?
(A) o

(B) dm

(C) WA

(D)

BANK : CBOL : : GROVE :

(A) SPOMP (B) HSPWF
(C) EVORG (D) PSWFH

6= A, B, C, D, E 3 F & ufda #f @2
TIBFIRDFTAR IE A3RC
F =8, A Fa1DF gia o 7 @er |
C,DR M Al well FiFmsh fim i@ ?
(A) BIRE (B) B3R C
(C) B3MmD (D) B3RA
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41.

42.

44,

45.
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iii) Arithmetical and Numerical Ability

A toy in the form of a cone of radius
3.5 cm is mounted on a hemisphere of
same radius. If the total height of the toy
is 15.5 cm then the total surface area of
the toy is

(A) 214.5 cm?
(C) 225 cm?

(B) 216 cm?
(D) 361cm?

The least number when divided by 18,
24, 56 leaves no remainder is

(A) 405 (B) 504

(C) 360 (D) None of these
The two numbers whose sum is 27 and

product is 182 are
(A) 24,3
(C). 15, 12

(B) 13,14
(D) 11,16

The valuef/s of k in the quadratic equation
2x2 + kx + 3 = 0 if the roots of the equation
are equal is/are

®) V7

(A)
(C)

If the 3" and 9t terms of an AP
(Arithmetic Progression) are 4 and — 8
respectively, then the term of AP which
is zero is
(A) 4

(C) 6

(B) 5
(D) 3

46.

47.

48.

49.

50.

A can do a job in 6 hours, B can do the
same job in 8 hours. Then the number
of hours A and B take if they complete
the work together, is equal to

24
(A) 4hrs (B) —?—hrs

(C) gsihrs (D) none of these

The present ages of two brothers is in
the ratio 3 : 4. If 4 years ago their ages
were in the ratio 2 : 3, their present ages

are
(A) 30and 40
(C) 12and 16

(B) 15and 20
(D) none of these

If oo and B are the roots of the equation
2x2 — 10x + 5 = 0 then the value of

%+%=

(A) (B) 6

8
1
© 3 () -8

If 6x + 3y = Bxy, 2x + 4y = 5xy then
(x,y) =

(A) (1,2) B) (2,1)

:
©) [1%) ) {5-1]

Sin2A = 2SinA is true when A =
(A) 0° (B) 30°
(C) 45° (D) 60°
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41.
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43.

44,

45.
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iii) TR Ud HEATeHes: qradl

I o TR T U Taai1 et B
3.5 H. Hl. ¥ It & o & areimel W
@ T 2| At faet i S 15,5 9. 1,
2, a1 faei =1 Tt U= amwd 2

(A) 2145cm?  (B) 216 cm?

(C) 225cm? (D) 361 cm?

gz Bl ¥ I g St 18, 24, 56 9
9 e S W 5w oft 9 7 e

(A) 405 (B) 504

(C) 360 (D) 74 & 18 A&
A weTd fSmeh A 27 S I 182 2
(A) 24,3 (B) 13, 14

(C) 15, 12 (D) 11,16

femma wertor 2x2 + kx + 3= 08 k1 O

Ife FefeRo % et guH &

() 6 B) V7

) 26 () 3V6

gfe e TR 2ot w1 e 2 9T ue 4
3T — 8 HATM: B, o1 EHIGX Hvfi %1 98 Ug
STl 3 B

(A) 4 (B) 5

(C) 6 (D) 3

46.

47.

48.

49.

50.

A T &1 &) 6 592 § 3R B 36 &
8 52 T hidl & | Hei shl a fod A 3R
B firerert @e ol g od @

24
(A) 4 hrs (B) '—zhrs
(C) %hrs D) 399 & ®IS A

AT H &1 HIgd1 ol 377 1 T97d 3 : 4
2 13fe 49 gd 39 s T sgUE 20 3
ofT, Tl 3T IAHE g B

(A) 30 37X 40
(C) 123 16

(B) 1531 20
(D) T8 HK T

A& o 3 B U GO 2x2 — 10x + 5 =0

el o=

(A) 8 (B) 6
1
165" (D) -8

af2 6x + 3y = 6xy, 2x + 4y = 5xy, I (x, y) =
(A) (1,2) (B) (2,1)
1 [lj]
©) (1.5] ® |3
Sin2A = 2SINATT B S A =
(A) 0° (B) 30°

(C) 45° (D) 60°



dagress
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52.

53.

54.

55.
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After revaluation a student’'s marks was
changed from 80 to 92, the percentage

increase in marks is

(A) 12% (B) 13%

(C) 15% (D) 18%

If angles of a triangle are in A.P. with
the greatest being 84°, the other angles

in the triangle are

(A) 30°, 66° (B) 36° 60°

(C) 40°, 56° (D) none of these

The average age of 10 students is 6 years.
The sum of the ages of 9 of them is
52 years. The age of 10! student is

(A) 10yrs (B) 9yrs

(C) 7yrs (D) 8yrs

The cost price of an article which is sold

for Rs. 220 at a loss of 12%, is
(A) Rs. 280 (B) Rs. 250

(C) Rs. 200 (D) Rs. 225

The duration of time in which a sum of

money triples itself at 8% p.a. simple

interest is
(A) 12.5yrs (B) 13yrs
(C) 12yrs (D) 25yrs

56.

57.

58.

59.

60.

MKG-XX/TECHSOC/1T/06

The radii of two circles are 8 cm and 6 cm
respectively. The radius of the circle
having area equal to the sum of the
areas of two circles is

(A) 14 cm (B) 2cm

(C) 12cm (D) 10cm

The quotient obtained when

x3 — 3x2 + 5x — 3 is divided x2 — 2 is
(A) 7x-9 (B) x-3

(C) —x+3 (D) -7x+9

1
If a fraction becomes g when 1 is

subtracted from the numerator and it
1
becomes % when 8 is added to its

denominator, then the fraction is

S 7
A 12 ® 33
6 6

C) — Dy (<
©) 20 (®) 15
7 2 e

If cot0 = 3 then cosec< 0 =
111 113

(A) 54 ®) 64
64 15

pi gl DY
©) 113 ©) 64

One card is drawn from a well shuffled
pack of 52 playing cards. The probability
that card will not be an ace is

12
(A) 13 B) 13

1 3
© 3 D)



81.

52.

53.

54.

55.
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eI & qvETd U faenefi & o
80§ 92 & U | 37ehi H uftwrd sl 2
(A) 12% (B) 13%

(C) 15% (D) 18%

I w B % o gmier Soft 7 ¥ el
[l T 1 84° 2 | Brgst # s 0T &
(A) 30°, 66° (B) 36°, 60°

(C) 40°, 56° (D) 37H ® 13 &

10 fornfeliai i sfma s 6o 8 | ST &
931 g 52 94 & | 78al foeneff i ey ®

(B) 9ad
(D) 8=

(A) 1099
() 7=9

12 % o1 71 W%, 220 H == T8 T 9]
1 %4 o ©
(A) %.280 (B) ®. 250

(C) %. 200 (D) %. 225

e oY SEH 8 % T1anT SIS I @ W

we TR = o s ot
(A) 12.5a9 (B) 1399
(C) 1294 (D) 25ad

56.

57.

58.

59.

60.
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< gt st Brsan 8 E.ft. ok 6 €. ). s
® | 3 € I o Sl o AT % SHIEK

STF 9Tt g <t Brsan gnft
(A) 1497 (B) 2d.1i.
(C) 12&.1. (D) 10 #.1i.

x3 — 3x2 + 5x — 3 &l x2 — 2 ¥ fawfsa
FE TR 8
(A) 7x-9 (B) x-3

(C) —x+3 (D) —7x+9

s 1 e o o sfewii g
Fre W 5 @R, i d

S 7
A 12 ® 13
6 6
©) 55 O

»
Ife coth = — dl cosec? 0 =

111 8 113
(A 61 B) &4
© - ©) =
52 9191 % Ui ¥ Uk g1 e st 21
I8 Wifrehan T 98 1S saemt 71 B
12 1 '
(A) = BY 73
1 3
©) 7 D)



61.

62.

63.

64.

65.
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iv) Hindi Language and Comprehension

fe=dt s sf =y

ERIER GRSkl FEd & 66. TS AT U™ € | 98 At =
(A) 92 e
(B) ¥=2 (A) (B) g
(C) ot (C) YrgaT=a (D) =t
(D) 91g 67. forell g =1 S5 <) | 39 v A i
G Wi 39 WETal & 37y @ T &
(B) G T B (©) #= (D) 13 e
(C) wrerit 7T 68. ‘gAY TR HHE THE § 7
(D) ¥ @ e el (A) I
T & 1 I62 ‘9T 1ee o IS T B 7 (@) =Eate
(A) R (C) FHURH
& (D) Femfivra
©) wew 69. ‘9T 3Tse 1 A B
() s By

. . (B) AT

= i ?

H + TF = 334 Tl hiad G 2 7 ©)
(A 3 b5 s
= 70. ‘ufd’ wrsg Y WieeEs G301
(C) au
D) & (A) T (B) dfa
E+HA+H++AT+F+Y+HA+T + ©) afeen (D) v
& = 71, ‘I Wise o & s B B
(A) =faa (A) gfeer
(B) ®@mR (B) whferm
(C) TEER (C) TgEhicHT -
(D) TETE (D) & R gfcem I




[

ve.

73.

74.

75.

A7

BT YIe2 1 Aga=H o
(A) BT (B) JHM
(C) B™ (D) I3 &

ST G, | @I | 39 9 | g9 ®
(A) S SR ar

(B) @rarm

(C) @rwm

(D) #h1g &

IREAR 3G AT FlA QU H | F&l
HE B |

(A) E9eH
(B)
(C) 39=H
(D) ferRor
sireet ferflau :
geTa e
H. DR ESH AT F. I Vel Bl
1. faeef 3z @, g4l IgM
3. YT AT . femufem s
GUH HET
3. e 9. EHHE ST
3. TR T ©. uWE @iER
FET
F 3T T I
A F 9 @ T T
B T @ & ¥ ¥
€ @ T T & ¥
D T & 9 @

76.

s

78.

79.

80.
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‘HATITEHETH I16¢ T 3 B

(A) 'R R R faa foe gaaaren
(B) UIGYl 1 HEGH

(C) W A A 7edsh a0

(D) 2ATYEHTA § HEdeh HTHATAT

{8’ 34 vse =1 1=fom w9 ferflau |
(A) {= (B) Tt

(C) e (D) dfes
ol + HT =

(A) =T (B) @Tan

(C) < (D) &

‘foreg’ e =1 avifeeae fafau |

(A) 9+3+T+q+HA+ Y

(B) 9+3+{+3+g+A+4Y
(C) +3+T+H+g+Hq+ 3
(D) A+3+{+3+3+Y+H

Sirgem foflay |

3. favafaseh %. G5 a9

3. gl @, FHUT gHE

3. fefieh 7. wEsfe wHE

3. HERd ¥, e

ary

3. JAAT-JSASAT . qYEy GHE
H W3 3OS

A) § 9 T @ =

B § T ¥ @ &

C) & T & @ ¥

D) @ 9 & 7T &
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v) English Language and Comprehension

ST T 3R Ay
Identify the odd word out. Pick out the word that is nearly opposite in
81. (A) Pond meaning to the words in capitals.
(B) Tank 86. DISTRESS
(C) Lake ' (A) safety
(D) Book (B) travail
(C) agony
82. (A) Cube ' (D) torment
(B) Square
87. GALLANT
(C) Foot (A) bold
() S (B) stalwart
Add suitable question tag. :C) A
. D) stout
83. She can swim well, '
(A) can she Identify wrongly spelt word.
(B) can't she 88. (A) REVERIE
(C) does she (B) SPARKLE
(D) don’t she (C) RHYTHEM
(D) FASCINATE
84. He works hard, ? 89. (A) ARIAL
(A) ishe (B) INDULGE
(3) -dosehe (C) QUAINT
(C) doesn't he (D) WHIMS
(D) did he Fill in the blanks with appropriate article if
85. They don't need anything, ? i ool o
(A) can they 90. She has failed in English.
A
(B) don't they (B) ah
the
(C) did they :C: :
n
(D1 deitiey (D) not needed




ghas,

91.

92.

He is
team.

best player in the

“(A) a

(B) an
(C) the
(D) not needed

We need half
(A) a

(B) an

(C) the

(D) not needed

pound of sugar.

Fill in the blanks with appropriate preposition.

93.

94.

95

-19-

The picture hangs
(A)
(B) up
(©)
(D) at

my bed.

You should not go the football

ground.

(A) in

(B) into

(C) on

(D) to

He lives in the house
(A) by

(B) on

(C) at

(D) of

the river.

MKG-XX/TECHSOC/1T/06

Fill in the blanks with suitable verb form.

96.

97.

They have been ______ since morning.
(A)
(B)
(C)
(D)

working
worked
works
work

. A

Last Sunday we there.

(A) play

(B) have played
(C)
(D)

were playing

had played

Identify the tense in the following,sentences.

98.

99.

100.

I have been working here for ten year. -,
(A) present perfect .

(B) present continuoyhs g

(C) present perfect continuous

(D) past continuous . ., v

In my youth | took exercise everyday. .
(A) present tense h

(B) past indefinite

(C) past perfect
(

D) future tense

(=¥

She has applied for leave.
(A) present continuous _
(B) simple present
(C) present perfect‘ r

(D) simple past



(O

101.

102.

103.

104.

105.
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SECTION - B
Post Specific Subject - Related Questions

If the temperature in the field is more
than the temperature at which the tape
was standardised then the correction
will be

(A) Additive

(B) Subtractive

(C) Zero

(D) Sometimes Subtractive and
sometimes zero

If a forebearing of a line AB is 266 degree
30 minutes then its backbearing is

(A) 176 degree 30 minutes

(B) 86 degree 30 minutes

(C) 356 degree 30 minutes

(D) 266 degree 30 minutes

Which of these is a self-reading staff ?
(A) Target staff

(B) Telescopic staff

(C) Cross staff

(D) Staff equipped with vernier

If contour line of different elevation
intersect only in case of

(A) Hill

(B) Valley

(C) Overhanging cliff

(D) All of the above

An instrument used for reproducing,
enlarging or reducing the map is called
(A) Planimeter

(B) Pantagraph

(C) Clinometer

(D) Ceylon ghat tracer

106.

107.

108.

109.

110.

Multiplication constant of a tacheometric
measurements is
(A) f/i
(C) i

(B) fxi
(D) f+i
is one of the permanent
adjustment of a level.
(A) Levelling up
(B) Elimination of parallax
(C) Setting up
(D) Adjustment of line of collimation
Angle at the point of curve between the

back tangent and the chord from point
of curve to that point is called

(A) Interior angle
(B) Deflection angle
(C) Central angle
(D) Angle of banking

A reverse curve consists of

(A) Asingle curve of a circle connecting
two straights

Two curves of different radii bending
in same direction

Two curves of equal radii bending
in same direction

Two curves of opposite direction
that join at a common tangent
point

(B)
(C)

(D)

The amount by which the outer end of
the road or outer rail is raised above the
inner one is called

(A) Elevation

(B) Super elevation
(C) Camber

(D) Kerb



101.

102.

103.

104.

105.
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T — 9

U Tiaies fawg - gast avg

IS &1 H qTaHH 36 a9 § A e
;ﬂﬁaﬁmﬁmwmﬁmﬁm
(A) JTTCHS

(B) fegmrenss

(C) @

(D) =l feramTreg= 377 &4t 3=

Ife us W@ AB i us wrfafar 266 faft
30 fome 2, a1 39t Sefeafon 2

(A) 176 feift 30 fime

(B) 86 feifi 30 fime

(C) 356 ferft 30 fame

(D) 266 feft 30 fare

fafafaad s sm-a @ ww e ?
(A) T&T RI%

(B) oXasfi w21

(C) =HIE TIH

(D) FFER wT%

o s figr= @i had
% 9 | gfdese w2

(A) TSt

(B) =

(C) FH ALHd! =

(D) 3 Gt

106.

107.

108.

109.

110.
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U Sferamies wa 1 en a2
(A) fii (B) fxi
(C) i (D) f+i

UF T % T A
TF 2|
(A) Tl
(B) ST&H I ETAT ST
(C) T &Ll
(D) TYM [al 1 GHISH
g T T 3N s fog 9 39 fog 0 &
da gk g HRFO g el
(A) 3q: 0 (B) fa=rem =i
(C) FE™ M (D) s o
U oA A B e Erd) R
(A) <t g =i Siied U 99 Sl T g5
(B) fu= fr=enaTi i 2t o &1 e # fesm
4 gedi &
g el & 21 9% 51 U e
T gedt
(D) foradia feem i €1 ok &1 AT el

T % forg W Sied &

(C)

I8 U STel dep TSk I1 siTad] i hl aradl
SRl SR A IR IBA AR, W
FEATd 2 |

(A) 3~134

(B) T3~

(C) Fas

(D)

o
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113.

114,
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The radius of the curvature at any point
shall vary inversely with the distance
from the beginning of the curve, such a
curve is called

(A) Clothoid

(B) Cubic parabola
(C)

(D)

Lemniscate
Compound curve

Process of spacing of contours
proportionately between the plotted
ground points established by indirect
method is called

(A) Contour interval

(B) Horizontal equivalent

(C) Interpolation of contour

(D) None of these

Factor of safety means

(A) The ratio of ultimate stress to the
working stress

The ratio of working stress to the
ultimate stress

The ratio of breaking stress to the
working stress

(B)
(C)
(D)

The ratio of working stress to the
breaking stress

If steel rail is 12.6 meter long and is laid
at a temperature of 24 degree Celsius,
the maximum temperature expected
is 44 degree Celsius, Coefficient of
thermal expansion is 12 x 1076/°C,

will be the change in length in

the rail.
(A) 0.0066 mm (B) 0.0036 mm
(C) 0.155 mm (D) 3.024 mm

118,

116.

137

118.

119,

120.

o
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The relation between modulus of
elasticity [E] and modulus of rigidity [G]
and poisons ratio [u] is

(A) E=2G[1-y] (B) E=2G[1+y]
(C) E=3G[1—-2u](D) E=3G[1+2y]
will be the effective length of

a2m long column, when its both ends
are hinged.

(A) 2m (B) 4m

(C) 1m (D) 1.414m

The assumption made in simple theory
of bending is

(A) The material is heterogeneous

(B) Plane section remains plane even
after bending

Youngs modulus is different in
tension and compression

None of these

(C)

(D)
Section modulus of a circular section of
diameter “D” is

(A) 0.0156 D% (B) 0.0625 7D3
(C) 0.031257D3 (D) 0.083 7D3

In a rectangle section, the maximum

shear stress at the neutral axis is
times the average shear

étress.
(A) 2 (B) 1.5
(C) 0.5 (D) 2.5

In a thin cylinder of thickness ‘t’
subjected to internal pressure ‘p’, then
hoop stress in the cylinder will be

(A) pd/2t (B) pd/at
(C) pd/st (D) 2pd/it

The compression member of truss is
called

(A) Column
(C) Tie beam

(B) Pier
(D) Strut



111.

112.

113.

114,
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foreft foig W =3k <l Forsan o6 & W @
70 & a1y geww & = S R, Ut O
FHEardt gl

(A) FAAEE

(B) oI Fge™

(C) w=EE

(D) Ak sk
vy fafr g Tonfya o aat fogati &
S FHTIATE H AT ohl TEA i Fisha
FEaAT 8

(A) & AT

(B) st grged

(C) &AM T SATVH

(D) 9 @ I3 7

T o H1eh! 1 37 B

(A) Afaw Tema @ HEdA TEE F

3T

(B) ®EYA gama ¥ AfqH g=ma *1
AT

(C) TS gag @ HHYe o &1

AT
(D) =S gara | faHisE gumE &

EIREIN
Ife @it h1 T 12.6 Hier &=l & 3R 24°C
A T forsTS 18 8, SgHTG Aferehdn
AU 44°C B, ST fawanur qonies
12x1076/°C R, a1 & Y @ & gftad
Uil
(A) 0.0066 mm
(C) 0.155 mm

(B) 0.0036 mm
(D) 3.024 mm

118.

116.

117.

118.

119.

120.

121.
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TeATEdT {197 [E] 3TR 3R J1974h [G]

3R QT TUTd (p) & = ey &

(A) E=2G[1-y] (B) E=2G[1+4]

(C) E=3G[1-2y] (D) E =3G[1+2y]

ot e i o gwTE SeE B,

el 36 1 B FeseR fR §ITd &

(A) 2m (B) 4m

(C) 1m (D) 1.414m

o o FTERYT Rrgia ¥ 9918 T8 SAaEwe

?

(A) e 3EEH ?

(B) & % ®1& Hl GHAA hIe GHASA SHT
war e

(C) 3T 1 HITeh o 3R Tdted | o &

(D) ¥4 ¥ =IE Te

T8 "D’ &l Toh FATHR FHIE Fl I HUT &

(A) 0.0156 D3 (B) 0.0625 7D3

(C) 0.031257D3 (D) 0.083 7D3

TS HTTAATHR H1e H, AT 8 0 3Afershan

A gTel 3TEd oA < H H
(A) 2 (B) 1.5

(C) 05 (D) 2.5

TR < ‘p’ & A HE t 9T T
Yqel Seid § g9 a1 B

(A) pd/2t (B) pd/4t

(C) pd/st (D) 2pd/t

4 61 Tdiied Hae FHEndl ol
(A) HicH (B) fusw

(C) erzim (D) ¥
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122. The treatment method adopted to

123.

124,

125

126.

127,
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remove objectionable taste and odour
and also to remove the dissolved carbon
dioxide is

(A) Sedimentation (B) Screening

(C) Filtration (D) Aeration

Slow mixing or agitating process in

which destabilised colloidal particles are
brought into intimate contact is called

(A) Flocculation

(B) Aeration

(C) Filteration

(D) Sedimentation

For a given soil sample the ratio of the

volume of voids to the volume of soil
solids is called

(A) Porosity (B) Air content
(C) Watercontent (D) Void ratio
The maximum water content at which a

reduction in water content will not cause
a decrease in the volume of soil mass is

(A) Plastic limit

(B) Shrinkage limit

(C) Liquid limit

(D) Reduction limit

Hydrometer is used to determine
(A) Determination of density of soil
(B) Water content of soil

(C) Grain size distribution of soil
(D) Specific gravity

The reaction of cement with water

(A) Exothermic (B) Endothermic
(C) Neutral (D) No reaction

128.

129.

130.

131.

132.

133.

MKG-XX/TECHSOC/1T/06

In microscopic level of concrete, the

interfacial region between the particles
of coarse aggregate and hardened
cement paste is

(A) Paste phase

(B) Aggregate phase
(C) Alkaline phase
(D) Transition zone

VICAT apparatus is not used for
(A) Setting time

(B) Permeability

(C) Standard consistency test
(D) All of the above

Los angels test is used to determine
(A) Aggregate impact value

(B) Aggregate abrasion value

(C) Modulus of elasticity of aggregate
(D) Aggregate crushing value

Separation of cement paste from
aggregate is called
(A) Segregation (B) Bleeding

(C) Corrosion (D) Laitance

The time dependent part of the strain
resulting from stress is called

(A) Deflection (B) Creep

(C) Shrinkage (D) Torsion

The chemical reaction between the

hydroxyl ions in the pore water within
concrete and aggregate is called

(A) Sulphate attack

(B) Acid attack

(C) Alkali-aggregate reaction
(D) Carbonation



122.

123.

124.

125.

126.

127.
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T 3 114 % g o foru 3T geft g3

ShTsA SI3HATFATES hl 82 o fold TTRA
TR 39= faf

(A) IFER (B) Thif

(C) & (D) STgFHI
fR-+M e a1 gam & afwn e
R e o =) 314 e 9ueh
o A SR, FeAI & |
(A) 3019

(B) SgeRI

(C) F=hed

(D) FadTEd

us fau gu e & T B ffwi & e
7751 3141 <k STTIAA T STUTd
FEAI 2 |

(A) Ty (B) oY <l {EAT
(C) sk aEn (D) fiferd sxquma
Aftreran st 1 o W s/ il wen |
FH1 T % 5 % A |
e e e uil

(A) TATREES HiAT

(B) Toepe dim

(C) =d €

(D) HHT G

E{EEAR i EEd &+ fruafor & fou
T Bl @ |

(A) Tl =cd &1 gl
CRHEEGEIEIE!

(C) &I o v AT faaaom

(D) fafsre &

iz i st & gy At 2|
(A) TSI (B) FeHTEEI

(C) 3IgwEH (D) =i AffsT 7

128.

129.

130.

131.

132.

133.
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hishie o FeHasll T 9, GI¢ THAT &
FUTl 3R 3R fope 70 Hie & T & &=
AREHY & 3

(A) TTRI =0T

(B) TehAvT =T

(C) &iT =

(D) T S

VICAT I3 =g YgFd T2 g |
(A) T&T9H GHT

(B) TR

(C) W GiadT ufeefor

(D) 3 g

ATUSIed qeor gt 2
T BT © |

(A) T90 99E qH

(B) TWI YN OTH

(C) T9u =t T=Ia1 1 HIT

(D) W FeA HH

e TR F I B g AT

FEATd1 & |

(A) JFFRI (B) g

(C) <7 &M (D) wed

a9 & qiort 999 1 gu sl am
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is an example for non-
destructive testing method.

(A) Cube compression test
(B) Rebound test

(C) Split tensile test

(D) None of these

As per IS 456:2000, if slump value of
concrete is in between 25 mm to 75 mm
then the degree of workability is

(A) Very low (B) Low
(C) Medium (D) High
circumstances under which

doubly reinforced section of a beam
may be adopted.

(A) Toincrease the stiffness of the beam
(B)
(C)
(D)

When shear is more at the support
When width of the section is more
All of these

In RCC beams, shear reinforcement is
provided in the form of

(A) Longitudinal bars

(B) Anchorage length

(C) Vertical stirrups

(D) Hanger bars

The property of a fluid which offers the
resistance to the movement of one layer

of fluid over adjacent layer of the fluid is
known as

(A) Surface tension
(B) Capillarity
(C) Specific density
(D) Viscosity
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Small opening of any cross section on
the side or at bottom of tank called

(A) Orifice

(B) Mouth piece

(C) Borda's mouth piece

(D) All of these

A device used for measuring the rate of
flow of a fluid flowing through a pipe
(B) Pitot tube

(D) Notches

Venturimeter works under the principle
of

(A) Manometer
(C) Piezometer

(A) Francis equation

(B) Pascal’s equation

(C) Bernoulli's equation

(D) None of these

The type flow which the fluid particles

move along well defined path or stream
line and they are parallel is called

(A) Turbulent flow

(B) Rotational flow

(C) Compressible flow

(D) Laminar flow

The force exerted by a jet of wateron a
stationary vertical plate in the direction
of jet is

(A) paV2sin?0  (B) paV2 (1+cos0)
(C) paVv? (D) paVZ2cos0

The hydraulic machine which converts

the mechanical energy into hydraulic
energy are called

(A) Turbines
(C) Fan

(B) Pumps
(D) Windmill
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Example for a tangential flow impulse
turbine

(A) Francis turbine
(B) Reaction turbine
(C) Kaplan turbine
(D) Pelton wheel turbine

The rotating part of a centrifugal pump
is called

(A) Runner
(C) Impeller

(B) Casing
(D) Draft tube

The vertical distance between the centre
line of the pump and the water surface in
the tank to which is delivered is known
as

(A) Suction head
(B) Static head
(C) Manometric head

(D) Delivery head

The rate of flow (Q) through a V-notch
varies as

(A) H2/3 (B) H5/2
(C) H25 (D) H
The ratio between the actual velocity of

jet of liquid at vena contracta and the
theoretical velocity of jet is called

(A) Coefficient of discharge
(B) Coefficient of viscosity
(C) Coefficient of contraction
(D) Coefficient of velocity

is used to find flow through
open channel.
(A) Mouth piece (B) Orifice meter

(C) Weir (D) Venturi meter
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When a fluid is flowing through a pipe,
the major energy loss occurs due to
(A) Friction

(B) Sudden expansion of pipe

(C) Sudden contraction of pipe

(D) Bend in pipe

The bottom surface of a window opening
is known as

(A) Lintel (B) Jamb
(C) Sill (D) Plinth
The joint in which holes are made in the

adjacent stones of dove tail shape and
is filled with molten lead is called

(A) Rugged joint (B) Cramped joint
(C) Dowelled joint(D) Plugged joint
The portion of the brick cut across the
width is called

(A) Queen closer (B) Bat

(C) Mitred closer (D) King closer
The wedge shaped unit fixed of masonry
forming an arch is called

(A) Extrados (B) Intrados

(C) Crown (D) Voussoir

The type of arch where, two arc of a
circle meeting at apex is called

(A) Segmental arch

(B) Gothic arch

(C) Relieving arch

(D) Stilted arch

Placing a new foundation under an

existing one or strengthening an existing
foundation is called

(A) Shoring (B) Scaffolding
(C) Undeminning (D) Pointing
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Scaling away patches of plaster of
previous coat due to lack of adhesion
with the under coat is called

(A) Grinning (B) Gauging
(C) Crazing (D) Flaking

does not belong to trussed
type roof system.
(A) Queen post
(C) Mansard
A wall in which the facing and backing
are of two different materials which are

bonded together to ensure common
action under load is

(A) Veneered wall

(B) Faced wall

(C) Cavity wall

(D) Solid masonry wall

(B) King post
(D) Scissor roof

For a Narrow gauge, the distance
between the running faces of two track
rails is

(A) 0.400 m (B) 1.670m

(C) 0.762m (D) 2.000 m

The arm type fixed signals fitted on a

vertical post fixed at the side of a track
are called

(A) Repeater signal
(B) Manual stop signal
(C) Disc signal
(D) Semaphore signal
sleepers are regarded to be best

as it fulfil almost all the requirements of
an ideal sleeper.

(A) Castiron sleeper
(B) Wooden sleeper
(C) Steel sleeper

(D) Concrete sleeper
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The rainfall mass-curve shows the
variation of

(A)
(B)

Rainfall excess with time

Rainfall intensity with cumulative
rainfall

(C)
(D)

Rainfall intensity with time
Cumulative depth of rainfall against
time

Isohyet may be defined as a line joining
points of

(A) Equal storm duration

(B) Equal rainfall depth

(C) Equal rainfall excess

(D) Equal rainfall velocity

Which one of the following is the critical
mode of failure in a fillet weld ?

(A) Tension (B) Bearing

(C) Shear (D) Crushing

The effective throat thickness for a fillet
weld should not be less than

(A) 1 mm (B) 3mm

(C) 5mm (D) 7 mm

The slenderness ratio in a tension
member as per IS code where reversal

of stress is due to loads other than wind
or seismic should not exceed

(A) 350 (B) 100

(C) 180 (D) 60

Thickness of the gusset plate should
not be less than
(A) 12mm

(C) 6 mm

(B) 8 mm
(D) 4 mm
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As per IS 1893, assesses
maximum severity of shaking that is
anticipated in the region.

(A) Time period

(B) Response reduction factor

(C) Importance factor

(D) Zone factor

For a material like structural steel,
_is defined as the ratio

of plastic moment and yield moment of
the section.

(A) Sizefactor (B) Shape factor
(C) Material factor (D) Moment factor

Individual wire wound helically around
a central core is called

(A) Wire rope (B) Cable
(C) Strand (D) Rod
The distance between the centres of two

consecutive bolts measuring along the
row of bolt is

(A) Enddistance (B) Edge distance
(C) Gauge (D) Pitch

is provided to hold the
various parts of column straight, parallel

ata correct distance apart to equalize the
stress distribution in steel structures.

(A) Batten (B) Angle
(C) Lacing (D) Splices

The crops are sown by the beginning
of the southwest monsoon and are
harvested in autumn is called

crops.

(A) Kharif
(C) Eight month

(B) Rabi
(D) Perennial
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Total depth of water required by a crop
during the entire period the crop is in
the field is

(A) Duty (B) Base period
(C) Delta (D) Kor depth

The canal which is not used for direct
irrigation is called

(A) Major distributaries

(B) Minor distributaries

(C) Main canal

(D) Field channel

The overflow portion of dam over
which surplus discharge flows from the
reservoir to the downstream is known as
(A) Crest gate (B) Weir

(C) Barrages (D) Spillway

A flood control reservoir with gate
installation at spillway and outlets is
(A) Multipurpose reservoir

(B) Detention basin

(C) Retarding reservoir

(D) All of the above

High flood level of the drain is much
below the bottom of the canal trough so
that drainage water flows under gravity
freely, such type of cross drainage work
is called

(A) canal siphon

(B) super passage

(C) level crossing

(D) aqueduct

rocks are formed by the

change in character of the pre existing
rocks.

(A) Metamorphic rock
(B) Igneous rock
(C) Sedimentary rock
(D) Plutonic rock
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Tempering means

(A)

The process of intimate or
harmonious mixing

(B)
(C)

Operation of moulding

Process of bringing the clay into a
proper degree of hardness

Process of cleaning the clay and
removal of impurities

(D)

The lime which is obtained by the
calcination of pure lime stone is known as

(A) Hydrated lime (B) Quick lime
(C) Slakedlime (D) None of these

During the setting action of the cement,
the compound which is responsible for
imparting strength to the cement in the
early period of setting is

(A) Tricalcium silicate

(B) Tricalcium aluminate

(C) Tetracalcium alumina ferrite

(D) Dicalcium silicate

The presence of moisture in sand

increases the volume of sand, this
phenomenon is called as

(A) Bulging of sand
(B) Fineness of sand
(C) Water sand ratio
(D) Bulking of sand

Characteristic of an ideal paint is
(A) It should dry quickly
(B) Easily removable with water

(C) Itshould possess a good spreading
power

(D) All of the above
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The oxygen required for the micro-
organism to carryout biological
decomposition of organic matter in waste
water under aerobic conditions is called

(A) BOD (B) COD
(C) TOD (D) THOD
are installed ahead of
sedimentation tank, to remove floating

substances like grease, oil, fat, soaps,
wax etc.

(A) Detritus tank

(B) Grit chamber

(C) Screening chamber

(D) Skimming tank

Presence of nitrate in the waste water
indicates

(A) Initial stage of decomposition of
‘organic matter

Fully oxidised organic matter

Presence of organic waste in waste
water

Partly oxidised organic matter

(B)
(C)

(D)

The contract where the contractor
guotes rates for the item of work
exclusive of the elements of materials
which are supplied by the department
free of cost is

(A) Lumpsum contract

(B) Percentage rate contract

(C) Labour contract

(D) Item rate contract
________isanamount of compensation
payable by a contractor to the owner

due to delayed construction having no
relationship with the real damage.

(A) Retention money
(B) Earnest money
(C) Security deposit
(D) Ligquidated damage
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The amount of flexibility for a non critical
activity without effecting the completion
period of the project is called

(A) Redundant activity

(B) Float

(C) Critical path

(D) Dummy

Value of dismantled materials of a
property at the end of its utility period
and absolutely useless is called

(A) Salvage value

(B) Scrap value

(C) Potential value

(D) Monopoly value

The loss in the value of property due to
change in fashion and design is

(A) Depreciation

(B) Amortization

(C) Appreciation

(D) Obsolescence

The representative fraction for a scale
1cm = 20m is
(A) 1/2

(C) 1/200

(B) 1/20
(D) 1/2000

is used to measure an angle
or to set-off an angle in engineering
drawings.

(A) Scale of chords
(B) Plain scale
(C) Diagonal scale

(D) Vernier scale
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In chemical toilet, is added

to the water in the acid proof metal tank
to stabilise the organic matter present

in the excreta.

(A) Sodium chloride
(B) Caustic soda
(C) Baking soda
(D) None of these

All non-putrescible waste like rags, paper,
glass, plastic bottle, excluding ashes are

called

(A) Garbage
(B) Ashes
(C) Rubbish

(D) Inorganic waste

is provided to reduce the water

hammer pressure in the penstock.
(A) Trashrack (B) Fore bay

(C) Septictank (D) Surge tank

The force parallel to the cross section

of bar is called

(A) Shear force

(B) Compression force
(C) Tensile force

(D) Axial force
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(B) wia
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(D) =fH
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(B) T Hmd
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(A) TcFe™E

(B) vrgfad

(C) T 3fs

(D) U
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(A) 1/2
(C) 1/200
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(D) 1/2000
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T Eed o, qufdrse
T 3ufera Sifaes yerd =1 fon =@ % fo
STt T 3o 2w 3 fererman s ® |
(A) Eifeam Feirrge

(B) hifeesh diet

(C) sfFT grer

(D) ¥H & rE el

wiw, wifees dad, @ % afafe
FEATT & |

(A) T
(B) T@
(C) =T
(D) 3iferes mufime
YT B STe] BUTST &6l bl hH
T3 & foTu Iuetsy T ST R |
(A) (B) Hu@re!
(C) @+ eF (D) WdH
BE o ATIEY I o FHARR I
FEATE |
(A) a5
(B) wdred &
(C) TH s
(D) Hii=
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IMPORTANT INSTRUCTIONS TO CANDIDATES

IFHIEaRI o ToT8 Hgwaqut 339291

13. This booklet contains 40 pages.

14. Directions : Each question or incomplete

15.

178

18.

19.

statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method

0800

Wrong Method

O@00

Wrong Method

O0®0O0O

Correct Method|

O@0O0

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.

13.
14.

15.

16.

17.

18.

19.
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TR I YT T HYF GAE T B | I g
T 39! ToRE Tk 1 AT 2 91 99 w1 Tel 3T
Q YT HYF H1 T HL IR 3ATYeh! I g1 H
I9YH MR @M A, B, C 41 D 1 =ief1 1 shiedt
FA-9T5C U § e (@) HE 8 | (efeeantim
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o000
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3132 1 37T IR T | T & 39U
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Y% YA I Al Ush & el IO 8 | 3!
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Go through instructions given in Page No. 1 (Facing Page)

-40-



